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SP1 0.0 00
NO.2 34 0.9 1.5 -
NO.2
EC1 174 0.0 - -
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NO.4 12.3 0.0 - -
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NO.16 20.0 0.4 7.0
NO.16 04
NO.17 20.0 0.3 7.0
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NO.36 0.2
NO.37 20.0 25 27.0 -
NO.37 2.5
KA5-1 20.8 00 26.0 -
KA5-1
NO.39 19.2 0.0 - -
NO.39
KE5-1 74 0.0 - -
KE5-1
KE5-2 1.7 0.0 - -
KE5-2
NO.40 49 0.3 0.7 -




dJjn

FZEILEEE us

Y LiEmE BiiEm
WEET AT
A R BB FEF RS ATLiRiE i =
T EE YT EE W T #E W E #E

NO.40 0.3

KA5-2 21.8 2.0 25.1 -
KA5-2 20

NO.42 18.2 0.0 18.2 -
NO.42

NO.43 20.0 0.0 - -
NO.43

NO.44 20.0 0.0 - -
NO.44

NO.45 20.0 - -
NO.45

KA6-1 8.4 - -
KA6-1

NO.46 11.6 - -
NO.46

KE6-1 8.4 - -
KE6-1

KE6-2 11.3 - -
KE6-2

KA6-2 20.0 - -
KA6-2

KE7-1 204 - -
KE7-1

KE7-2 10.9 - -
KE7-2

NO.50 9.0 - -
NO.50

KA7-2 11.0 - -
KA7-2

NO.51 9.0 - -
NO.51

NO.52 20.0 - -




dJjn

FZEIEEZE on

vtiEm BtiEm
MEET AT
p: (=1 B B FEFMRAT AIRZ O
i) miE i) L BT = BT o=
& i 1003.4 117.9 395.6




E h K BT & R
LT aroy—k (18) B R EBBA | ovoy—r | Bt .
A £ & | 7%H [ & & 2 = EEEE H Ro-40 | EREL K | mamient | 5 B
+5 X4 (C) X% (D) + 5 (05~1.0m) | (1.0~2.0m) t=15cm (&R t=10mm
155 hAfEE: 43.0 0.9 35.4 19.3 33.4 20.1 76.6 32.7 1.9 29 6
(0.15) (0.07) (0.20) (0.045) OmBYss
& FiFars)—k 47.9 0.4 7.2 3.4 9.6 2.2
& F 90.9 42.6 0.0 22.7 43.0 20.1 76.6 32.7 2.2 1.9 2.9 6
- BEEE
HEHE 91m 43m3 Om3 23m3 43m?2 20m3 77m2 38m2| IA~EE 2m?2 3m 6 FR




EREN iE KGR
x 181 a 18y
i1 & iE R B = v & iE R B =
NO.48+6.9 ~ NO.50+5.7 430 | 1EFHhA R
& &t (m)
15 E AR 43.0




2 FiFasy—k KR
yid 181 a 181
o B E K = i B E K =
NO.10+5.0 ~ NO.11+15.0 30.0
NO.38+5.0 ~ NO.38+16.2 10.9
NO.38+17.6 ~ NO.39+5.0 7.0
& &t (m)
= FiFarsg)—k 47.9




dJjn

FEHREREELTT GHEE
K 1B B R HEEIE
1Ny RO HEHI
b=t B B T® X4D T O

i) = i) # = BT = BT =
15 EHhA BEEE
NO.48+6.9 0.9 0.5 0.8
KE7-1 14.7 0.9 13.2 0.5 7.4 0.8 11.8
KE7-1 0.9 05 0.8
KE7-2 12.7 0.8 10.8 04 5.7 0.8 10.2
KE7-2 0.8 04 0.8
NO.50 9.7 0.7 7.3 0.4 3.9 0.7 7.3
NO.50 0.7 04 0.7
NO.50+5.7 5.8 0.7 4.1 04 2.3 0.7 4.1
& 429 354 19.3 334




dJjn

15ENEE G E =

avy)—k EHH B HEEwA
p: (=1 B B 15 RC-40,t=15cm O
i) miE H # = BT = BT o=

NO.48+6.9 0.35 0.70 1.43 0.71
KE7-1 14.72 0.55 6.6 1.00 12.51 2.04 25.5 0.80 11.1
KE7-1 0.55 1.00 2.04 0.80
KE7-2 12.71 0.52 6.8 0.95 12.39 1.94 25.3 0.79 10.1
KE7-2 0.52 0.95 1.94 0.79
NO.50 9.71 0.42 46 0.80 8.50 1.64 17.4 0.74 7.4
NO.50 0.42 0.80 1.64 0.74
NO.50+5.7 5.82 0.29 2.1 0.60 4.07 1.23 8.4 0.68 4.1
& i 42.96 20.1 37.47 76.6 32.7

FEHH=

37.47/42.96= 0.9m
= iﬂ*Z:(0.40+0.f‘57) X 1/2%0.9 X 4= 1.9m2
7k$ﬁ%/\°47°=42.96x‘0.9x 1/7%X052(1 AR LY RX)= 2.9m
0% B LE$4=42.96 X 0.9 X 1/7= 6 AT




- ZEFiFfarsy)—k 10.0m¥% L)
250
50 200
avyy—k
18)
BE 28K B8 S . Hi
i
i\ 2
LBk ‘ S ‘ [mp
i g &
) \ EF ‘ E E,.
\ k| IE
% 77777 ] il
150 Bsfor o U—FEIEL
50 500
% F O i 5 A q = | BEM
(F¥x1)
PR1E T 0.50%0.30%10.0 1.50 m3
HBE X4 D(FREL) | 0.50%0.14%10.0 0.70 m3
EMEEIE T 0.20%10.0 2.00 m2
avy)—k 15 (0.25%0.09+0.20%0.30) *¥10.0 0.825 m3
CiVRy o0 (0.09+0.39)%10.0 4.800 m2
B 4t t=10mm,I5A%4} | 0.825%1/10 0.083 m2
av49)—rEEEL g 0.15%0.30%10.0 0.450 m3




JOvyEs

B¥

= =

HES

FLlE

I & Al A B® B &% = ]
fEEXT

7. A DA/ Pk 1 | T m3 431.2

# R X45D m3 142.2

EEEIE PR EE T T m2 96.9
1BRAIT Oy iEHERE

JOvyEiE $£0.35m m2 91.1

EAav)—k t=10cm m3 9.1

fRAa 1) —k 15 m3 20.0

EARE RC-40 m3 26.0

B #th#1 t=10mm I5R294F | m2 4.1

KR/ 84T VU ¢ 150 m 6.5

O i Bf5 AE #F 33l 13

1S ER m 47.7
25 RAIT Oy YiEHEEE

0y EE ££0.35m m2 2773

EAaLHY—h t=15cm m3 41.6

fRAS Y —h 15 m3 61.0

RABRE RC-40 m3 59.3

B H#h#4 t=10mm I7A%4F | m2 13.9

Kig/ AT VU ¢ 150 m 19.9

O H B AF 44 B A 40

25 E4fE m 79.0




BB D Oy o iR i KGR
11 g1 11
o B E K = fi & E K =
NO.44+9.0 ~ NO.45+13.0 240 [ 1 BRAITOVITE
" 24.0 1 SER
NO.45+13.0 ~ KE7-2 78.7 [ 2B REAIT OV YA
17 79.0 25 EiE
KE7-2 ~ NO.50+15.9 237 | 15REITAVIIE
" 23.7 1S ER
& &t (m)
1EREITOvIiE 47.7
25 RAIT Oy OE 78.7
1 SER 47.7
25 E 79.0




dJjn

RAIDOVIBEELT

HEE

K E 2R HEEEIE
1INV IR TEH]
B o= i S T X %D T# =
B E 8= 3] = L] = B E =
NO.44+9.0 0.0 1.1 0.7 0.7
NO.45 11.0 1.1 12.1 0.7 7.7 0.7 7.7
NO.45 1.1 0.7 0.7
KA6-1 8.4 1.2 9.7 0.8 6.3 0.7 5.9
KA6-1 1.2 0.8 0.7
NO.46 12.0 3.8 30.0 14 13.2 0.8 9.0
NO.46 38 14 0.8
KE6-1 9.1 6.5 46.9 1.7 14.1 0.8 7.3
KE6-1 6.5 1.7 0.8
KE6-2 12.6 7.3 86.9 1.5 20.2 0.8 10.1
KE6-2 7.3 1.5 0.8
KA6-2 21.1 35 113.9 14 30.6 0.8 16.9
KA6-2 35 14 0.8
KE7-1 19.2 1.3 46.1 0.8 21.1 0.8 15.4
KE7-1 1.3 0.8 0.8
KE7-2 9.4 28 19.3 1.2 9.4 0.8 75
KE7-2 2.8 1.2 0.8
NO.50 8.2 2.0 19.7 0.8 8.2 0.7 6.2
NO.50 2.0 0.8 0.7
KA7-2 10.7 35 29.4 0.7 8.0 0.7 75
KA7-2 35 0.7 0.7
NO.50+15.9 49 35 17.2 0.7 3.4 0.7 3.4
&it 126.6 431.2 142.2 96.9




dJjn

15 BAITOyoiahEE:

HEE

JOvoiEhER: EiARR
RC-40
B o= iz JayoEEH) EARAGN) =
SL miE ] = H = h 8=
NO.44+9.0 0.00 1.12 0.2 H=1.00 h=0.60 EARE
NO.45 11.00 1.79 16.0 05 3.9 H=1.60 h=1.20 h=H-0.4m
NO.45 1.79 0.5
KA6-1 8.37 2.46 17.8 0.8 5.4 H=2.20 h=1.80
KA6-1 2.46 0.8
NO.45+13.0 463 2.80 12.2 0.9 3.9 H=2.50 h=2.10
INET 24.00 46.0 13.2
KE7-2 0.00 2.80 0.9 H=2.50 h=2.10
NO.50 8.18 1.79 18.8 0.5 5.7 H=1.60 h=1.20
NO.50 1.79 05
KA7-2 10.71 1.79 19.2 0.5 5.4 H=1.60 h=1.20
KA7-2 1.79 0.5
NO.50+15.9 485 1.12 7.1 0.2 1.7 H=1.00 h=0.60
INET 23.74 45.1 12.8
&it 47.74 91.1 26.0
EAa249)—k=91.0%0.10= 9.1m3
ARAT41)—k=91.0 X 0.22= 20.0m3
B #44=91.0 X 1/10 X 0.45= | 4.1m2
JKIRE/NLT=91.0%1/7%x045%1.118= 6.5m
% 1 [ Ak #4=91 .(‘) x1/7= 138 AT




dJjn

2ERBITOVOEEE ST E £

JOvoiEhER: EARR
RC-40
B o= iz JayoEEH) PN Y S() =
SL miE 3] = H = h =
NO.45+13.0 0.00 2.80 0.9 H=2.50 h=2.10 HARA
NO.46 7.36 3.47 23.1 1.3 8.1 H=3.10 h=2.70 h=H-0.4m
NO.46 347 1.3
KE6-1 9.07 4.02 34.0 1.6 13.2 H=3.60 h=3.20
KE6-1 4.02
KE6-2 12.56 3.91 49.8 1.5 9.4 H=3.50 h=3.10
KE6-2 3.91
KA6-2 21.06 3.69 80.0 1.4 14.7 H=3.30 h=2.90
KA6-2 3.69
KA7-1 0.40 3.69 15 14 0.3 H=3.30 h=2.90
KA7-1 3.69
KE7-1 18.80 2.91 62.0 1.0 9.4 H=2.60 h=2.20
KE7-1 2.91
KE7-2 9.42 2.80 26.9 0.9 4.2 H=2.50 h=2.10
&it 78.67 271.3 59.3
25A0291)—k=277.3x0.15= 41.6m3
fRAD 1) —k=277.3 X 0.22= 61.0m3
B #h#4=277.3 % 1/10 X 0.50= 13.9m?2
JKIRZINAT=277.3%1/7x050% 1.118= 19.9m
% H Bﬁﬂ:ﬁ=277‘.3 x1/7= A0 AR




5 15 BT 0y oiEkEE 10.0m Y
A—FL—LER
vi
T
ERAaVH Y-+t
(15)

B W RO® o R 2| B
avy—kJavy % 35cm SL*10.0 _ o
RAa>H5Y)—F 12 SL*0.22%10.0 _ m3
EAaV LY —k 12 SL*0.10%10.0 — m3
= A B A RC-40 {(0.30%1.118+2+0.1xh)1/2%h}10.0 - m3
B #h M| L5284 t=10mm| SL¥0.45%1/10.0 _ m2
K | 8 4 F VU ¢ 150 (SL*1/7%0.45%1.118)%10.0 - m




B 5 2B RAIT Oy TEHERE 10.0m4tY)
46D
A0 S T
‘M 50 H—FL— &R
- I ]
T
o) | g
| it | -
a
ERAaVy)—+ *
15
7 O Hi " = q = | BEM
avyY—rJovy 2 35cm SL*10.0 - m2
51y —k 1= SL*0.22x10.0 — m3
by — = SL*0.15%10.0 - m3
20 a RC-40 {(0.30%1.118%2+0.1%h)*1/2%h}x10.0 — m3
M| TS5R%4Ft=10mm| SL¥0.50%1/10.0 - m2

4 7 VU ¢ 150 (SL*1/7%0.50%1.118)%10.0 - m




£ B 155 10.0m¥% Y
S
D _avyy—+t
\\
\ \\ _
AN
S
8—17 o
TH |
J E¥RA
00 520 00 RC=40
720
% W I it " = #} = | B4
2 Y 5y k 12 {(0.10+0.52)%1/2%0.20+0.52%0.10}*10.0 1.140 m3
il b (0.30+0.10)%10.0 4.000 m2
B & # B| Rc-40t=100 | 0-72¥100 7.200 m2
B | TSZRAAF=10mm 1.140%1/10.0 0.114 m2




® B 25 HEE 10.0m4Y
a0
A 0 el
Lo (1)
\
\
\ \
NN -
NN
o
Lo
O']i @
(]
T ey S
EBRA
oJ 550 100 RC-40
750
& I it " = #} = | B4
Sy sy — h = {(0.10+0.55)%1,/2%0.25+0.55%0.10}%10.0 1363 | m3
) e (0.35+0.10)%10.0 4500 m2
B & # B| Rc-40t=100 | 0-79%100 7.500 m2
B i #| TSRAAFt=10mm 1-36%1/10.0 0.136 m2




B K T # 2

£

it %

I 7iE E Al it I | iR ¥ Bi{1 H = i

f;ET 15URVEE B300-H300-3%& | m 472.3

" JL—F 52| B300AH,T-25 m 68.3

185 URIKER PU1-B300B m 1.0

BATITHKR T 1 S4EME B300-h360 m 7.0

25 HEIE B300-h420 m 76

SEHEME | JL ¥ XMAE| #E BT F,B300-H300] m 7.7

AS1ERTE B300-h300 m 10.0

BET 15EE EEE ¢ 300(17&) m 77

B600 X L600 X

BT 155Kk H1100 cl3il 1
PU#tb300 x L300

255Kk | TL XA RE X h640 BT 7
PU#Eb300 x L600

35&Ek# | FLErRREL X h640 cl3il 1




1S UEAIE i KGR
11 g1 11
o B E K = fi & E K =
NO.20+14.0 ~ NO.27+6.2 132.0
NO.27+7.2 ~ NO.37+6.9 200.0
" 80| JL—FI%
NO.37+7.4 ~ NO.38+7.4 20.1
" 140 JL—F9&
NO.38+8.2 ~ NO.38+16.9 8.9
NO.38+17.4 ~ NO.41+11.6 55.9
" 80| JL—Fi&
NO.41+12.1 ~ NO.41+18.5 6.5
NO.41+19.1 ~ NO.42+19.3 20.2
" 180 JL—FI&
NO.42+19.8 ~ NO.43+13.1 13.3
" 133| JL—FI&
NO.43+13.6 ~ NO.44+9.0 15.4
" 10| YL—F 5
& &t (m)
15UEEE 472.3
JL—F> % EB300MH, T-25 68.3




1EURIKER iE KGR
x 181 g 181
i1 & iE R B = £z & iE R B =
NO.41+12.0 1.0
& &t (m)
15 URIKE 1.0




EAgE £ £ R
181 a 181

{2 B E R = i B E R =
NO.27+6.7 7.0 1 SHEE

NO.37+7.1 7.6 25 ENE

NO.38+17.1 7.7 SEHERTE

NO.47+15.7 10.0 ASHEME

& &t (m)

1 SHERTE 7.0

25 1R 7.6

IS EkETE 7.7

ASHEME 10.0




| £ K &
& 18
: - T & =
NO.27+6.7 _
T (m)
15 EE($300) 1.7




&K it i KGR
181 a 181

o B & = fi & & Fr =

NO.47+15.7 25 oK ¥t NO.27+6.7 1 155Kk
NO.37+7.1 1 25 &K #t
NO.38+7.8 1 35 oK
NO.38+17.1 1 25 oK #t
NO.41+11.8 1 25 oK ¥
NO.41+18.8 1 25 oK #t
NO.42+19.5 1 25 ok
NO.43+13.4 1 25 oK i

& &t (G RT)

15 5Kk #t 1
25 &K ¥t 7

3= &Kk




£ B 15 UE A& 10.0m4Y
1520
520
110 300 110
B300-Hi300-3%& BELEFRSL—FUIE
BRE R, T-25
o TTITTT T
sl o \Er *':”
¥ & ‘
S \
J; ~ . / %ﬁ:EJI/@)L‘( 2
® oy R 1 ]
EERA 1OJ 360 LOG
RC-40
560
% W O it OE = q = | BEM
€l )
PR1E T 1.52%0.35%10.0 5.32 m3
HBE XAD(FREL) | 0.50%0.35%10.0%2 3.50 m3
EMEEIE T 0.56%10.0 5.60 m2
JL %+ R -{EIE B300-H300-33 | 10.0/2.0 5.000 &
Hy E L 4 | EEk 1:3 0.36%0.03%10.0 0.108 m3
B &A & E: RC-40,t=10cm | 0.56%10.0 5.600 m2
BLFRIL—FUrE| BERHIEE T-25 | B300FH A&EFE| m




- 15 UEIKEE 10.0m4Y
1400
400
50 300 5( PU1-B300B
\ \
gl S |
S | < L J |
\ 2 [ / BEILZIY
OTTY N T
= i oot IR
300
E¥Ra
500 RC-40
% W O it OE = q = | BEM
€l )
PR1E T 1.40%0.48%10.0 6.72 m3
HER XD GRAL) | 6.72-(0.40%0.36%10.0+0.50*+0.10%10.0) 478 m3
EMEEIE T 0.50%10.0 5.00 m2
TLE v R MAEE PU1-300B 16.500 &
Hy E L 4 | EEk 1:3 0.30%0.03%10.0 0.090 m3
B &A & E: RC-40,t=10cm | 0.50%10.0 5.000 m2




£ B 151EME 10.0m4 V)
1600
600
IR B 150 300 150 “ -
RIL FEE
LTI VRS
ik
Sy T
\ i e 5
[ S ! -
| =N =
[
R it 2
EBEwRA
)J 600 L( RC-10
700
% W O it OE = q = | BEM
€l )
PR1E T 1.60%0.41%10.0 6.56 m3
HER XD GRAL) | 6.56-(0.60%0.26%10.0+0.70%0.15%10.0) 3.95 m3
EMEEIE T 0.70%10.0 7.00 m2
avyl)—k 15 (0.60%0.51-0.30%0.36)%10.0 1.980 m3
CiVRy o0 0.51%4%10.0 20400 | m2
HL—Fo5E | T-25RJLAEE | B300H 10.000 m
HEEwa RC-40,t=15¢cm | 0.70%10.0 7.000 m2




£ B 251l E 10.0m4 V)
1600
600
I B 150 300 150 ‘s
AL FEE
EEEEEEEN ST
138
oL
\ SIE £
| I
| g 1] &
\ 0 &
L **3 %5* +
| EBRa
)J 600 L( RC-40
700
% F O it OE = q = | BEM
(F¥x1)
PR1E T 1.60%0.47%10.0 7.52 m3
HER XD GRAL) | 7.52-(0.60+%0.32%10.0+0.70%0.15%10.0) 455 m3
EMEEIE T 0.70%10.0 7.00 m2
avy)—k 15 (0.60%0.57-0.30%0.42)*10.0 2.160 m3
CiVRy o0 0.57*4%10.0 22800 | m2
HL—Fo5E | T-25RJLAEE | B300H 10.000 m

HEEwa RC-40,t=15¢cm | 0.70%10.0 7.000 m2




£ 5 35T E 10.0m=%Y)
1520
520
5 15 110 300 110 i —5op% 1-25
B300-H300 oL FER
Lo LIITTTTTTT]
2l o ) (
S ‘ L ’ |
\ \ 0
L o= . / ﬁ;ﬂl:E)b’Sl)L‘( S
£ sy M 18 ]

RC-40 560

® W BRO® R R ¥ | B
(fE%ELT)

RIE TR 1.52%0.345%10.0 5.24 m3

BR RAD(FAL) | 5.24-(0.52%0.345%10.0) 3.45 m3
EEEE T 0.56%10.0 5.60 m2
TLEvAMAE | HEETAB300-H300| 10.0/2.0 5.000 1@
SJL—FU5E | T-25RILAEE | 10.0/1.0 10000 | m
HEILZIL 1:3 0.36%0.03%10.0 0108 | m3
EBERR RC-40,t=15cm | 0.56%10.0 5600 | m2




£ B 4S5HEE 10.0m4 V)
1600
600
IR B 150 300 150 “ -
AL FEE
I LI S
CI? D
- LO
\ ¥
\ 3 \ o
| <3
S f :
| EERA
JJ 600 L( RC—40
700
% W O it OE = q = | BEM
€l )
PR1E T 1.60%0.35%10.0 5.60 m3
HER X49DGRAL) | 5.60-(0.60%0.20%10.0+0.70%0.15%10.0) 3.35 m3
EMEEIE T 0.70%10.0 7.00 m2
avyl)—k 15 (0.60%0.45-0.30%0.30)%10.0 1.800 m3
CiVRy o0 0.45%4%10.0 18.000 | m2
HL—Fo5E | T-25RJLAEE | B300H 10.000 m
HEEwa RC-40,t=15¢cm | 0.70%10.0 7.000 m2




g B 18EER 10.0m¥% L)
‘ 1280
N
|
|
o
S |
T
o
| & . BELAIL
=
L — S
HEEwnA
212 RC-40
470
% W O it OE = q = | BEM
€l )
PR1E T 1.28%0.90%10.0 11.52 m3
HER RHaCGREAL) | 11.52-(0.146%10.0+0.47%0.15%10.0) 9.36 m3
EMEEIE T 0.47%10.0 4.70 m2
(S EFEE $300(17&)| 10.0/2.0 5.000 X
Hy E L 4 | EEk 1:3 0.272%0.03%10.0 0.082 m3
B A H  H| RC-40,t=10cm | 0.47%10.0 4.700 m2




BT B 155 K#H 1EATHY
3000
1000
1000
Svsy—t 200 600 200
200 600 200 =) RifteH SBT3, T-25, KL HAE
B=300 W=300 (B452600 x 600) 25 2
[ = = |
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R R P
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e o A S N — Y
ERpRA
B=300 1000 RC-40
1100
1800
% W O it OE = q = | BEM
(EZELXT)
PR1E T (3.0072+1.80"2)%1/2%1.20 7.34 m3
HER R4aCGREAL) | 7.34-1.00%1.00%1.00+1.10%1.10%0.20 6.58 m3
HmEIE T 1.10%1.10 1.21 m2
1.00%1. 00%1. 25-0. 60*0. 60*1. 10—
a v sy — k 12 0. 30%0. 30%0. 20%2-0. 146%0. 20~1/4+0. 36" 2% 1t 0.768 m3
*0. 20
. (1. 00+0. 60) *1. 25%4-0. 30*0. 30%4-0. 146%2-
gL —F 249 E T-25/RULMEE | #159600 X% 600 29E| 1 b3
B & & B RC-40t=20cm | { 10%1. 10 1210 | m2
B # £ # D16W=300 2 &
B 1 —LEUM ¢ 300 1 &




BT B 25 & KM 1EATHY
520 1520
110_ 300 110 520
_ L xR ~#H(PUSE)
B=300 110 300 119 300 x 300 x 640
‘ ‘ 5 L—F> S EH, T-25
i | =
= T ol o } '? } \
o o g i '9‘ g Li‘*J ‘
IR | L
; LT «© 1 o EHZQJQI)_F
PN 174 [ ] as)
| 2| i LIy y—F
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I I ERBE
b 520 b RC-40
620
% W B O¥® it &5 =R H B B
(E%x1 1)
PR1E T 1.52%1.52%0.60 1.39 m3
HER EADGRAL) | 1.39-0.52%0.52%0.45-0.62%0.62*0.15 1.21 m3
HmEIE T 0.62%0.62 0.38 m2
FL AR M#E | 300x300x640 | PUBE, 4 L—F L5 E/T-25 1 &
EfTavsY—+¢ 1£ 0. 30%0. 30%0. 05 0.005 | m3
#HLavyy—+r 1£ 0.62x0.62x0.10 0038 | m3
B L B B (0.62x4) x0.10 0248 | m2
X B W & RC-40,t=10cm | 0.62%0. 62 0.384 | m2
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820
110 600 110
= 4 =
g L |BF Hl-- 8 g g
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820 520
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300 x 600 X 640
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PR1E T 1.82%1.52%0.65 1.80 m3
HER EaDGRALT) | 1.80-0.52%0.82+%0.45-0.62%0.92%0.20 1.49 m3
HmEIE T 0.62%0.92 0.57 m2
FLAv R M#E | 300x600x640 | PUBE, 4 L—F L5 E/T-25 1 &
EfTavsY—+¢ 1£ 0. 30%0. 60%0. 05 0009 | m3
#HLavyy—+r 1£ 0.62x0.92x0.10 0057 | m3
B L B B (0. 62+0.92) x2x0.10 0.308 | m2
B B B A RC-40,t=10cm | 0.62%0.92 0.570 | m2




X T #H & & 5 X
I 7iE E Al it I | b3 4 =X v H = i
YIEIlA—/N\—L A
=E FZHET A32(20) (Et=5cm) [ m2 3008.4
Tl FRAI7ILEER m3 120.66
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b=t B B EHt=5cm =
= m B EmEEm2) 3 =(m3d) T ¥ = T T =
SP1 0.00
NO.2 3.41 0.00 -
NO.2
EC1 17.45 0.00 -
EC1
KA2-1 10.26 0.00 -
KA2-1 5.43 0.09
NO.4 12.29 5.01 64.2 0.26 2.2
NO.4 5.01 0.26
KE2-1 15.21 5.99 83.7 0.19 34
KE2-1 5.99 0.19
NO.5 4.79 6.58 30.1 0.12 0.7
NO.5 6.58 0.12
NO.6 20.00 7.04 136.2 0.13 2.5
NO.6 7.04 0.13
NO.7 20.00 5.85 128.9 0.30 4.3
NO.7 5.85 0.30
NO.8 20.00 6.68 125.3 0.30 6.0
NO.8 6.68 0.30
KE2-2 19.77 6.27 128.0 0.31 6.0
KE2-2 6.27 0.31
NO.10 20.23 5.04 114.4 0.32 6.4
NO.10 5.04 0.32
KA2-2 7.27 4.35 34.1 0.03 1.3
KA2-2 4.35 0.03
NO.11 12.73 4.25 54.7 0.2
NO.11 4.25
NO.12 20.00 4.77 90.2 0.29 2.9
NO.12 4.77 0.29
NO.13 20.00 4.82 95.9 0.20 4.9
NO.13 4.82 0.20
NO.14 20.00 473 95.5 0.16 3.6
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b=t B B EHt=5cm =
& m T T B = T ¥ = T T =
NO.14 473 0.16
NO.15 20.00 4.78 95.1 0.22 3.8
NO.15 478 0.22
NO.16 20.00 4.74 95.2 0.22 4.4
NO.16 474 0.22
NO.17 20.00 4.80 95.4 0.13 35
NO.17 4.80 0.13
NO.18 20.00 4.79 95.9 0.27 4.0
NO.18 4.79 0.27
NO.19 20.00 4.82 96.1 0.14 4.1
NO.19 4.82 0.14
NO.20 20.00 4.80 96.2 0.25 3.9
NO.20 4.80 0.25
NO.21 20.00 5.26 100.6 0.29 5.4
NO.21 5.26 0.29
NO.22 20.00 5.30 105.6 0.28 5.7
NO.22 5.30 0.28
NO.23 20.00 5.27 105.7 0.26 5.4
NO.23 5.27 0.26
NO.24 20.00 5.25 105.2 0.27 5.3
NO.24 5.25 0.27
MO.25 20.00 5.24 104.9 0.20 4.7
MO.25 5.24 0.20
NO.26 20.00 5.22 104.6 0.20 4.0
NO.26 5.22 0.20
BC3 4.49 5.21 23.4 0.16 0.8
BC3 5.21 0.16
NO.27 15.51 5.21 80.8 0.18 2.6
NO.27 5.21 0.18
SP3 13.39 5.22 69.8 0.11 1.9
SP3 5.22 0.11
NO.28 6.61 5.24 34.6 0.10 0.7
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b =1 BB B FEHt=5cm O
L] m & T # = B = 3] =
NO.28 5.24 0.10
EC3 22.29 5.23 116.7 0.28 4.2
EC3 523 0.28
BC4 8.84 522 46.2 0.30 2.6
BC4 5.22 0.30
NO.30 8.87 5.21 46.3 0.29 26
NO.30 5.21 0.29
SP4 18.36 5.23 95.8 0.11 3.7
SP4 5.23 0.11
NO.32 21.64 5.22 113.1 0.16 2.9
NO.32
EC4 5.59 0.00 -
EC4
NO.33 14.41 0.00 -
NO.33
NO.34 20.00 0.00 -
NO.34
NO.35 20.00 0.00 -
NO.35
NO.36 20.00 0.00 -
NO.36
NO.37 20.00 0.00 -
NO.37
KA5-1 20.78 0.00 -
KA5-1
NO.39 19.22 0.00 -
NO.39
KE5-1 7.44 0.00 -
KE5-1
KE5-2 7.66 0.00 -
KE5-2
NO.40 4.90 0.00 -
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BRI E 7 X2(20) IED]
B om PR B F5t=5cm i =
[ m T %8 T ¥ BT =
NO.40
KA5-2 21.77 0.00 -
KA5-2
NO.42 18.23 0.00 -
NO.42
NO.43 20.00 0.00 -
NO.43
NO.44 20.00 0.00 -
NO.44
NO.45 20.00 0.00 -
NO.45
KAG-1 8.37 0.00 -
KAG-1
NO.46 11.63 0.00 -
NO.46
KE6-1 8.37 0.00 -
KE6-1
KE6-2 11.35 0.00 -
KE6-2
KA6-2 20.00 0.00 -
KA6-2
KET7-1 20.40 0.00 -
KET7-1
KE7-2 10.88 0.00 -
KE7-2
NO.50 9.00 0.00 -
NO.50
KA7-2 11.00 0.00 -
KA7-2
NO.51 9.00 0.00 -
NO.51
NO.52 20.00 0.00 -
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Bl o= BB Bt FEHt=5cm W=
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& i 1003.41 3008.4 120.7




fh % Mt T % = & &t %X

I 7iE E A oAl b37) % B #H = i
AH—KL—JL Gr-C-2B m 126.2
15H—FL—ILER[TL Xy XL BC-800%! 84.0

22 H—KL—)L &R 1" " 422




H—KL—IL. H—RL— )L &R £ E H

xE 181 a 181
i & i & = fi & i & =

NO.44+9.0 ~ NO.50+15.9 126.2 Gr-C—2B

NO.44+9.0 ~ NO.45+13.0 240 |1 EH—FL—JLEHE

NO.45+13.0 ~ NO.47+12.6 42.2 |28 H—FL—IL &1

NO.47+12.6 ~ NO.50+15.9 60.0 |1 EH—FL—JLEHE

& &t (m)

H—KL—JL (Gr—C-2B) 126.2

15H—FL—JLE#E 84.0

25 H—KFL—) L& 422




£ B 1B H—FL—JL &/ 10.0m4Y
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15
17
TLE vy X HER A0q §
CIEM Z#L=2.0m/@& [ ‘
| | i
H E
ol ©
3 = 2 | HELEIL
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§ ™~ /ju ) o ) OJ
R N
Ny JnvyiE wLavyy—pk
~/ 18)
5 800 100
950
%\1\@00
% F O it OE = q = | BEM
T ANERE | CFEA 2.0m/f@ | 10.0/2.0 5.00 &
HEILAZIL 1:3 0.80%0.02%10.0 0.160 m3
wLavo)—k 15 (0.95+1.00)%1/2%0.10%10.0 0.975 m3
HLa BB (0.10%1.118+0.10)%10.0 2.118 m2
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HEILAZIL 1:3 0.80%0.02%10.0 0.160 m3
wLavo)—k 15 (0.95+1.00)%1/2%0.10%10.0 0.975 m3
HLa BB (0.10%1.118+0.10)%10.0 2.118 m2




BEEYWRBEIHEEHR

I 7iE E Al oAl b37) % Bi{1 #H = Hm =
HRiEL
avHY—REEEL | g m3 59.1
TFAI7ILNEE t=5cm m2 12205
H—RL—LiE T+ A m 80.0
B IE
a9 —hEk m3 59.1

T RAIT7ILEER m3 61.0] 1220.5%0.05
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B = i S ®mo t=5cm =
¥ = I [k W 8= T =
SP1 0.0 0.1 9.2
NO.2 3.4 0.1 0.3 9.2 31.3
NO.2 0.1 9.2
EC1 174 0.0 0.9 6.9 140.1
EC1 6.9
KA2-1 10.3 0.0 - 5.9 65.9
KA2-1 0.5
NO.4 12.3 0.0 - 0.5 6.2
NO.4 0.5
KE2-1 15.2 0.0 - 04 6.8
KE2-1 04
NO.5 48 0.0 - 0.5 2.2
NO.5 0.5
NO.6 20.0 0.0 - 04 9.0
NO.6 04
NO.7 20.0 0.0 - 0.5 9.0
NO.7 0.5
NO.8 20.0 0.1 1.0 0.3 8.0
NO.8 0.1 0.3
KE2-2 19.8 0.1 2.0 0.3 5.9
KE2-2 0.1 0.3
NO.10 20.2 0.0 1.0 0.5 8.1
NO.10 0.5
KA2-2 7.3 0.0 - 1.1 5.8
KA2-2 1.1
NO.11 12.7 0.0 - 1.1 14.0
NO.11 1.1
NO.12 20.0 0.0 - 0.5 16.0
NO.12 0.5
NO.13 20.0 0.0 - 04 9.0
NO.13 04
NO.14 20.0 0.0 - 0.5 9.0
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B = i S ®mo t=5cm =
¥ B = I [k W 8= T =
NO.14 0.0 0.5
NO.15 20.0 0.0 - 0.5 10.0
NO.15 0.5
NO.16 20.0 0.0 - 0.5 10.0
NO.16 0.5
NO.17 20.0 0.0 - 0.4 9.0
NO.17 04
NO.18 20.0 0.0 - 04 8.0
NO.18 04
NO.19 20.0 0.0 - 0.5 9.0
NO.19 0.5
NO.20 20.0 0.0 - 0.5 10.0
NO.20 0.5
NO.21 20.0 0.1 1.0 0.3 8.0
NO.21 0.1 0.3
NO.22 20.0 0.1 2.0 0.4 7.0
NO.22 0.1 04
NO.23 20.0 0.1 2.0 0.3 7.0
NO.23 0.1 0.3
NO.24 20.0 0.1 2.0 0.4 7.0
NO.24 0.1 04
MO.25 20.0 0.1 2.0 04 8.0
MO.25 0.1 04
NO.26 20.0 0.1 2.0 0.4 8.0
NO.26 0.1 04
BC3 45 0.1 0.5 04 1.8
BC3 0.1 04
NO.27 155 0.1 1.6 0.4 6.2
NO.27 0.1 04
SP3 13.4 0.1 1.3 0.3 47
SP3 0.1 0.3
NO.28 6.6 0.1 0.7 0.3 2.0
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B = i S 3] t=5cm =
¥ B = I [k W 8= T =
NO.28 0.1 0.3
EC3 22.3 0.1 2.2 0.3 6.7
EC3 0.1 0.3
BC4 8.8 0.1 0.9 0.3 2.6
BC4 0.1 0.3
NO.30 8.9 0.1 0.9 0.4 3.1
NO.30 0.1 04
SP4 18.4 0.1 1.8 0.3 6.4
SP4 0.1 0.3
NO.32 21.6 0.1 2.2 0.3 6.5
NO.32 0.1 0.3
EC4 5.6 0.1 0.6 0.3 1.7
EC4 0.1 0.3
NO.33 144 0.1 1.4 04 5.0
NO.33 0.1 04
NO.34 20.0 0.1 2.0 0.4 8.0
NO.34 0.1 04
NO.35 20.0 0.1 2.0 04 8.0
NO.35 0.1 04
NO.36 20.0 0.1 2.0 0.4 8.0
NO.36 0.1 04
NO.37 20.0 0.1 2.0 04 8.0
NO.37 0.1 04
KA5-1 20.8 0.1 2.1 0.4 8.3
KA5—-1 0.1 04
NO.39 19.2 0.1 1.9 1.0 13.4
NO.39 0.1 1.0
KE5-1 7.4 0.1 0.7 0.4 5.2
KE5-1 0.1 04
KE5-2 7.7 0.1 0.8 04 3.1
KE5-2 0.1 04
NO.40 4.9 0.1 0.5 0.3 1.7
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B = i S ®mo t=5cm =
¥ = I [k W 8= T =
NO.40 0.1 0.3
KA5-2 21.8 0.1 2.2 0.3 6.5
KA5-2 0.1 0.3
NO.42 18.2 0.1 1.8 0.3 55
NO.42 0.1 0.3
NO.43 20.0 0.1 2.0 0.3 6.0
NO.43 0.1 0.3
NO.44 20.0 0.1 2.0 04 7.0
NO.44 0.1 04
NO.45 20.0 0.0 1.0 0.5 9.0
NO.45 0.5
KA6-1 8.4 0.0 - 0.5 4.2
KA6-1 0.5
NO.46 11.6 0.0 - 0.6 6.4
NO.46 6.6
KE6-1 8.4 0.0 - 6.8 56.3
KE6-1 6.8
KE6-2 11.3 0.0 - 7.1 78.5
KE6-2 7.1
KA6-2 20.0 0.0 - 7.2 143.0
KAG6-2 7.2
KE7-1 204 0.1 1.0 6.7 141.8
KE7-1 0.1 6.7
KE7-2 10.9 0.1 1.1 6.1 69.8
KE7-2 0.1 6.1
NO.50 9.0 0.1 0.9 5.8 53.6
NO.50 0.1 5.8
KA7-2 11.0 0.0 0.6 5.8 63.8
KA7-2 0.6
NO.51 9.0 0.0 - 0.6 5.4
NO.51 0.6
NO.52 20.0 0.0 - 0.0 6.0
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i & i K = iz & iE K =
NO.45+19.0 ~ NO.49+17.0 80.0 T
& &t (m)
A—RL—IL(EFA)EE 80.0




